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If speed V, area A and force F are chosen
as fundamental units, then the dimension

of Young's modulus will be :

FAZV 2

Fﬂlv 3

FA h,'r{]

FA?V !
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FAZV !

Train A and train B are running on parallel
tracks in the opposite directions with
speeds of 36 km/hour and 72 km/hour,
respectively. A person is walking in train
A in the direction opposite to its motion
with a speed of 1.8 km/hour. Speed
(in ms~ 1) of this person as observed from
train B will be close to : (take the distance
between the tracks as negligible)

305 ms !
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1
40503638486, 25> ™S

31.5 ms !

295 ms !

Yermfedr A 3R B 9Hia 2t w fagda femsdi
H %09 36 km/hour 3R 72 km/hour 7fd
YIS T IO A H U = et &
=@ =i T &1 faoda f<om 5 1.8 km/ hour
=1 7 | 9 W | Afg 58 =t i Lemet
B 3@ W1 o1 59! 7 {1 H foreeh feheam
et : (2fE F g F < = T 1)

30.5 ms !
28.5 ms !

31.5ms !

205 ms !
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Question Number : 3 Question Id : 40503610558 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A par'ride of mass m with an initial velocit}-'

L:l-f\ collides perfectlj,-' ela_qticaﬂ}-' with a

mass 3m at rest. It moves with a velocity

U] after collision, then, v is given by :
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A bead of mass m stays at pointP(a,b)on a
wire bent in the shape of a parabola
‘|;=4C1'3 and rotating with angular
speed w (see figure). The value of w is

(neglect friction) :
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FHIE 7 w H T U T a1, Torl st
];=4C1'2W{parabola}ﬁﬁ%(ﬁﬂ%{ﬁ),
T m ZFHMA T TF AU &5 P(a, b) W
Rl o TR EI (o 1 g 1)
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A uniform cylinder of mass M and radius
R is to be pulled over a step of height
a (a < R) by applying a force F at its
centre ‘O’ perpendicular to the plane
through the axes of the cylinder on the edge
of the step (see figure). The minimum value

of F required ig :
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

=59 M a1 f53=491 R & U& 9@ (cylinder)

%1 a (a< R) HaTE HI U Hel & 39T @ia

g1 9% fodl 599 = 'O WUF 9a F, Sl

% oo & w19 I Wi F A | F 91

a1 A F e &, o wa ¢ (=

&) F o 709 9F € :

-i

\ - f{ ,,1»—

O
\ "4

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 6 Question Id : 40503610561 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The mass density of a spherical galaxy

K
varies as — over a large distance 'r’ from
r

its centre. Inthat region, a small starisin a
circular orbit of radius R. Then the period

of revolution, T depends on R as :
T2 x R¥

T2xR

U TeFR Tl § T0F 7 9 9gq i
K
*fmmﬁwa#a? Tl g e

AT 9 &9 § U B 9 R 5= & U
IOHR Fl H I W | 79 THH AFdw
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40503638501, 1 =&
T2x R
TxR
S |
L=
LA LAY

0 25 50 75 |100
A B

Shown in the figure is rigid and uniform
one meter long rod AB held in horizontal
position by two strings tied to its ends and
attached to the ceiling. The rod is of mass
‘m’ and has another weight of mass 2 m
hung at a distance of 75 cm from A. The

lension in the string at A is:

2 mg
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40503638506, U-2 Mg

0.75 mg,

1 mg

LI LSS

0 25 50 75 100

A B

== 5 T [ @1 U 9% UHEHH 92 AB
femart T B 5 59 SR 9 ST 21 S i gry
=d Y M T ® AR afaw e H 21 B
Wmﬁ’m’%ﬁmﬁﬁ{ﬁﬁcmiﬁ
T 2 m EAHM H U 9E AHE T 81 A
T =47 SR 9 T9E 20

2 mg

0.5mg

0.75 mg,

1 Ing
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Question Number : 8 Question Id : 40503610563 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A cylindrical vessel containing a liquid is
rotated aboutits axis so that the liquid rises
at its sides as shown in the figure. The
radius of vessel is 5 cm and the angular
speed of rotation is @ rad s~ !. The
difference in the height, h (in cm) of liquid

at the centre of vessel and at the side will
be:

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

40503638510, 28

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

U SRR 0, e U g e T, #)
9% #4 F 9194 T9H W 29 59F (A W
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40503638512. 28

A gas mixture consists of 3 moles of oxygen
and 5 moles of argon at temperature T.
Assuming the gases to be ideal and the
oxygen bond to be rigid, the total internal

energy (in units of RT) of the mixture is:
11
13

15

UF 19 F fgg 4 3 Hrer AfFdie 3T 5 9
AN SH T a9HH W2 | T8 A gU T S
M ey ¥ adn AT § o] 9% ¥, 39

fagm =t =Arafts e (RT ol 518 §) BRI
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13
15
20

Two identical strings X and Z made of same
material have tension Ty and T, in them.
If their fundamental frequencies are 450 Hz
and 300 Hz, respectively, then the ratio
Ty /T, is:

1.5

2,25

1.25

0.44
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

<1 HHEY AT (X 3R Z) U & uig 9 51 8
AR WA T, R T, T ARG T qa
agfa FHI: 450 Hz 3T 300 Hz &1,
Ty/T, 1AM 8N :

1.5

2,25

1.25

0.44
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A charged particle (mass m and charge q)
moves along X axis with velocity V. When
it passes through the origin it enters a
region having uniform electric field
.—} M

E =-Ej which extends upto x=d.
Equation of path of electron in the region
x>dis:

Y =

O =N
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Question Number : 11 Question Id : 40503610566 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 40503610567 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Consider four conducting materials copper,
tungsten, mercury and aluminium with

resistivity p., py , py and p, respectively.
Then :

Pc ” PA~ PT
Pa = Pr~ PC
PA = PMm~ PC

Py = Pa” Pe

=R F=TeT YE1di qid, 2, 9N 9 UEEeEE
& HY Fiaeea FE Pe» Pr s Py 3R Pa
%I qad :

Pc Z Pa” Pr

Py =Py > Pe
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> 0ex > O
40503638527, ' A7 PmM T RC

Pym = Pa = Pe

A beam of protons with speed 4 x 10° ms ~ !
enters a uniform magnetic field of 0.3 T at
an angle of 60° to the magnetic field. The
pitch of the resulting helical path of
protons is close to : (Mass of the
proton=1.67 x 10~ %" kg, charge of the
proton =1.69x10 sl

2 cm
5 ecm

4 em

12 ecm
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4%10° ms ™~ ! Tfd ¥ FeH 9@ 9r2H = T
TS 0.3 T 9 % UHHHE =51 99 H§ T30
FAA T TN TG TG U TR T A
fam | 60° F1 FW T 1 TEEH GROTH
HEY 91 916l 912 & Feaid (helical) 99
1 o= TR 2

(9ieiq &1 g=99F =1.67x10~ % kg
e &1 =T =1.69x10 7 19CQ)

2 cm
5ecm

4 cm

12 cm

Magnetic materials used for making
permanent magnets (P’) and magnets in a
transformer (T) have different properties
of the following, which property best
matches for the type of magnet required ?

P : Large retentivity, large coercivity

www.FirstRanker.com
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40503638534, P : Small retentivity, large coercivity

T: Large retentivity, large coercivity

T : Large retentivity, small coercivity

T Ha (P) TR 2RI § JERT 21 9
% (T) & ford 1em-s1em gaan g =it
w4 T o €1 Frefafaa & 9 57 gerd
T HE-T T 3AF TAM G FA 531 T
femm &2
P : Sy orsiiera, sies fanfea
P : FH SROierdl, St fFmfea
T : =AY oo, At Fanfed

T : A YR, 9 Ffea
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A plane electromagnetic wave, has
frequency of 2.0x 10"’ Hz and its energy
density is 1.02x 10~ 3] /m” in vacuum. The

amplitude of the magnetic field of the wave

2
g T
d1reg {:2

is close to ( and

speed of light =3 x108 ms~ 1)
160 nT
180 nT
190 nT

150 nT

UF goaa faga-ge=ea a0 St arghh
2.0x 10 Hz ¥ a0 58 faa | s 990
1.02x10-8]/m>® ¥ U Gefud =
&= &1 a1 § 9 fegs e @
| Nmz

= 9% 10° 5—, W9 i fafa #
{: ]

(

M =3 % 108 ms Ly .

41rep
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Options :
160 nT
40503638537.
180 nT
190 nT
150 nT

A spherical mirror is obtained as shown in
the figure from a hollow glass sphere. If
an object is positioned in front of the mirror,
what will be the nature and magnification
of the image of the object ? (Figure drawn

as schematic and not to scale)
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40503638541 Inverted, real and unmagnified
Erect, virtual and magnified
Inverted, real and magnified

Erect, virtual and unmagnified

S =1 o e T 8, U wnge e+
el | FEF TH et 90 == S 2 |
g T T3 1 TH=ER =9 F A7 T 9
Tl 5 idfar & =EY 9 AEdT = 9 9
=+ =1 g ? (o= \isfas )

Ie2, ATdfaE Ud Aarg
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40503638542, ST, SR U =y

I, IrfgE T 2

Hie, 9T U SEEf

Interference fringes are observed on a
screen by illuminating two thin slits 1 mm
apart with alight source (A=632.8 nm). The
distance between the screen and the slits is
100 cm. If a bright fringe is observed on a
screen at a distance of 1.27 mm from the
central bright fringe, then the path
difference between the waves, which are
reaching this point from the slits is close

to :

1.27 pm
2.87 nm

2 nm

2.05 pm

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 17 Question Id : 40503610572 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A F AT R T I mm T AN TFA R
A =632.8 nm TS T JH9 ST TF T8
W gHET Afqw fF <l st ¢ faft
ﬁﬁﬁ?ﬁﬁﬁ?ﬁ@n 100 cm ¥ 1 Afg 98 ™
Fo o T o I.EF’mmgﬁﬂIWTﬁtﬂ
fiFt femrdt <t 2, @1 59 fife W fafdl 9
TEEH el W o ugieR e § O s
e €7

1.27 pm
2.87 nm

2 nm

2.05 pm
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In areactor, 2 kg of (,U>* fuel is fully used
up in 30 days. The energy released per
fission is 200 MeV. Given that the
Avogadro number, N =6.023 X102 per
kilo mole and 1 eV=16x10"1"]J. The

power output of the reactor is close to :

60 MW

125 MW
54 MW

35 MW

s fwe #, U2 % 2 kg 347 1 9 &9
Y 30 g7 o wam fn wman €1 wfq fagveA
et arefi 1 200 MeV ¥ fean ¥ wamme
& N =6.023 x 102 gfa foal 9@ 3R
1eV=16x10"" ] fiuser 4 fFed areh
wifed S & |

60 MW
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40503638550, 122 MW

24 MW

35 MW

An amplitude modulated wave is
represented by the expression

0 =5(1+0.6 cos 6280t) sin (211 x 107 ¢t)
volts

The minimum and maximum amplitudes

of the amplitude modulated wave are,

respectively :
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Question Number : 19 Question Id : 40503610574 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

ek HATATH Hiselee (amplitude modulated)
T 1 = R & feran s €

0 =2(1+0.6 cos 6280t) sin(211 X 101 )

volts 39 9471 % a9 3R Afy=ay i
1 9 FHHL: B :
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The least count of the main scale of a vernier
callipers is 1 mm. Its vernier scale is
divided into 10 divisions and coincide with
9 divisions of the main scale. When jaws
are touching each other, the 7t division of
vernier scale coincides with a division of
main scale and the zero of vernier scale is
lying right side of the zero of main scale.
When this vernier is used to measure length
of a cylinder the zero of the vernier scale
between 3.1 ecm and 3.2 cm and 4" VSD
coincides with a main scale division. The
length of the cylinder is : (V5D is vernier
scale division)

3.2cm
3.07 cm
3.21 cm

2.99 cm
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UF AR Fend & T 9 (TFd) &
FeqaHi® 1 mm T | $9F ST T (TH)
T 10 faurs= € s T 73 ToE &+ 9 faursHi
g foed 81 v@ 9 Ffaed & &g =
TEFI G W a9 T 1 el f9rsH
A T F Tl U faursq § e g 2R
IR 91 T = = TE F = g 9=
S AR T T | o1E ARG OF deH F A F
SEE % =" @ S g, af—a A
3.1cm 3R 32 cm F o= | § a0 IR F
=ien farvrer 7ea T % us favrsm 4 faerm
HEEGEE R EE

32cm

3.07 cm
3.21 cm

2.99 cm
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A _—70

A small block starts slipping down from a
point B on an inclined plane AB, which is
making an angle 6 with the horizontal
section BC is smooth and the remaining
section CA is rough with a coefficient of
friction . Itis found that the block comes
to rest as it reaches the bottom (point A) of
the inclined plane. If BC=2AC, the
coefficient of friction is given by p=k tan®.
The value of k is

5t05.002

Question Number : 21 Question Id : 40503610576 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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U A A (inclined plane) AB T TF
DI T2 B U THTer e wid 21 Aa
T dfqa G Fo e WE (A 3d) | 33
BC 41T 99w Ifed ¥ 3 99 gL CA M W
T O o T | AE S S § TR 9 e
HAAE Tl & A (A T) YEET 9 5E Wl g |
gfg BC =2AC, & =M 0 p=k tand &1
k 1 °F & |

5t05.002

Question Number : 22 Question Id : 40503610577 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

An engine takes in 5 moles of air at 20°C
and 1 atm, and compresses it adiabaticaly
to 1/10" of the original volume. Assuming
air to be a diatomic ideal gas made up of
rigid molecules, the change in its internal
energy during this process comes out to be

X kJ. The value of X to the nearest integer

15

L o R e S St i
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Question Number : 22 Question Id : 40503610577 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Teh 51 20°C 3R 1 9gHvSd 296 Wag &+
5 HIed &1 FHRIH TR 517 39 39+ ga
AFTA 4 1/10 HFGA d& FUeA
{cmmpre:isiun}mirl Wﬂﬁm
iR Sl § 39 YA g X k] =1 FgaE
A Tl X w1 °OF fAFeay yuiw H ®

5 to 5.002

Question Number : 23 Question Id : 40503610578 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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A 5 uF capacitor is charged fully by a
220 V supply. Itis then disconnected from
the supply and is connected in series to
another uncharged 2.5 uF capacitor. If
the energy change during the charge
redistribution is 100 ] then value of X to

the nearest integer is

51t05.002

Question Number : 23 Question Id : 40503610578 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

T 5 pF 91fan arel 9o &1 220 V & =4
q YU €Y H A HU a1 & | qeq9ang 39
HId Y g2 T 2.5 pF A 9 9
G 4 4o FauA § Sre foan 5 €1 3t
SR 35 2 e e 2R
FH § uftad g30 8 @ X F: °A Fwad

ik § gl
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Question Number : 24 Question Id : 40503610579 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A circular coil of radius 10 cm is placed in
a uniform magnetic field of 3.0x107°> T
with its plane perpendicular to the field
initially. It is rotated at constant angular
speed about an axis along the diameter of
coil and perpendicular to magnetic field so
that it undergoes half of rotation in 0.2s.
The maximum value of EMF induced
(in wV) in the coil will be close to the integer

5t05.002

Question Number : 24 Question Id : 40503610579 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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T AR F2el (coil), Fogsht =2 10 cm
% 3.0 %10~ 5T HF % UHETA Gasig 95 §
€, U1 T WHAE Hawid & % oreed 8|
el & TH AH, W THE AH W E a9l
GAF T & F T ¢, TOHE S g | S
FIVIE 97 TE ¥ R 97 025 | e Teet
I & | T U o aes 9« #1 sfusan
A (pV ®) fFed qois & fAs= 2m
n

5t0 5.002

Question Number : 25 Question Id : 40503610580 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

When radiation of wavelength A is used to
illuminate a metallic surface, the stopping
potential is V. When the same surface is
illuminated with radiation of wavelength
3A, the stopping potential is 1 If the
threshold wavelength for the metallic

surface is nk then value of n will be

www.FirstRanker.com
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Question Number : 25 Question Id : 40503610580 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

W4\ TTe= w1 fafe uw 9g 9 g W
T2A1 & 91 399 Ieaterd sergel & PRI fava
(stopping potential) V | afe TH T W
. s L -'.l"';
Wﬁﬁfﬁhﬂﬂﬁmﬂlﬁmﬁﬂmﬁmﬂ?
B W1 €| AfE 39 HaE U sorae Scared
& Tord sAfeha Te=d na =1 W& e =
HFA A n FHAAS
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Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
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Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 40503610581 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An open beaker of water in equilibrium
with water vapour is in a sealed container.
When a few grams of glucose are added
to the beaker of water, the rate at which

water molecules :

leaves the vapour increases
leaves the solubion increases
leaves the vapour decreases

leaves the solution decreases

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice )
www.FirstRanker.com

Correct Marks : 4 Wrong Marks : 1
T I 1 Gl =it Sl ol 9T & | H
U S5 U § TG T €| WG oS 6 59
T =R % I | STen W @ a1 gt ey
T % 3]
m\] x-:v-\:l : %
ﬁ a%\]_ -\-\.-—-ar : %_
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For the following Assertion and Reason,

the correct option is

Assertion (A) :

Reason (R):

Both (A) and (R) are true and (R) is

When Cu (II) and
sulphide ions are mixed,
they react together
extremely quickly to give
a solid.

The equilibrium constant
of Cu?*(aq) +5% (aq)
= Cu5(s) is high
because the solubility

pmduct is low.

the explanation for (A).

Both (A) and (R) are true but (R) is

not the explanation for (A).

(A) is false and (R) is true.

Both (A) and (R) are false.

www.FirstRanker.com
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fa=fafaa o= a9 0T  fou 928 fawe

e

FHUF (A) : 94 Cu () T4 HEHES A
oo 9 € A 9 3109 Seal °
Al F:3F TF 39 <4 T

@hT0T (R) : Cu** (ag) +5% (aq) = CuS(s)
#1 ar= fo® 5= & w=ifs
Teeraan AR fre E

(A) @91 (R) 94 € a1 (A) & fad (R)
el =T ¢ |

(A) T4 (R) =i T8 € W (R), (A) &
foTu Tt =amen 78 2|

(A) TTETd & T (R) T B

(A) T (R) S &1 e € |

Which of the f::rll::rwi_ng is used for the

preparation of colloids ?

Mond Process

www.FirstRanker.com
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40503638575, Ostwald Process

Van Arkel Method

Bredig's Arc Method

= § 9 %1 FoEe F @R w9 § 995
B E?

Hie YeH
HAZTeE YT
o1 Al Tafy

At a7 fafy

If AB4 molecule is a polar molecule, a

pr:-ssihle geometry of AB 1 is :

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

40503638578, |etrahedral
Square plana_r

Rectangular planar

Square pyramidal

Ifz AB, 1] UF Y1 A9 € A AB, F T4
ST 8

IS Il

EURELLE
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The figure that is not a direct manifestation

of the quantum nature of atoms is:

F”-\ T ™
Intensity \{2 > 1
of black body

radiation f/ \H_j

Wavelength
Rb K
Kinetic ;,,-Na
energy of VAN ¢4
photoelectrons Eoung
S .
Frequency of incident
radiation
Internal »
energy of #,x’f
Ar 3;[}[] 400500600

Temperature (K)

— Increasing wavelength

Absorption spectrum

www.FirstRanker.com
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o= it wwH] % FETed GEHfd w1 Hie

HAfeafaa T 2, 2
\Tz > Ty
VA
qOTeE
R EAR Rb K Na
g & } Y/
Taferto
61 srgfa
Ar i f,-#”’f
o 3|"[:i:5 400500600
™K
—> gl gl TMaH
V] FeFeH
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Correct Marks : 4 Wrong Marks : 1
Which one of the following graphs is

not correct for ideal gas ?

1/T— P—
[11 IV
d= Density, P= Pressure, T = Temperature

II
11|

IV

www.FirstRanker.com
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eyl g o forw S are w8 =@ 22

/T P—
I IV
d="Fd, P= g4, T=a

II
I

IV
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In general, the property (magnitudes only)
that shows an opposite trend in
comparison to other properties across a
period is :

Electronegativity

Atomic radius

[onization entha]p}r

Electron ga_in enthalp}f

A A F, 92 TUEH (Fad 9REm) S U
Ed § 2= Ol 1 g | faadd wgia
T, B

=, S

EGE =N E I Bl

AT B

AT T
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Question Number : 33 Question Id : 40503610588 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

While titrating dilute HCI solution with
aqueous NaOH, which of the following will
not be required ?

Burette and porcelain tile
Pipette and distilled water

Bunsen burner and measuring
cylinder

Clamp and phenolphthalein

T HCl fae@a 1 i@ NaOH % |19
FAfaa & ° 9 § 4 feast smavasa
& 92T ?

FIZ T4 Gl 215e
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40503638595, T2 T AT

FHA T a9 Haro faferet

FAT TH R

The metal mainl}r used in devising
pthDelect:ric cells is :

Li
MNa

Rb

JToIeEd Hel (RIEseiiass 9a) & 991 |
TEadl Yo 91 © ;
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40503638599, Na

Rb

Cs

On heating compound (A) gives a gas (B)
which is a constituent of air. This gas when
treated with H, in the presence of a catalyst

gives another gas (C) which is basic in
nature. (A) should not be :

NH,NO,
(NH ),Cr,0O,,
NaN,

Pb(NO),
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T (A) F TH HT T UF T (B) I 2l
& W 9 #E U 999 ¥ 59 TE # w=
U ISE I IuiEfd H H, % @Y Aty
fafan o & U gEd T (C) urd el @
ot yhfa am €1 (A) 1 & e =fe ;
NH,NO,
(NH,),Cr,0,

NaN,

PbNO,),
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For octahedral Mn(Il) and tetrahedral Ni(II)
complexes, consider the following

statements :
(I)  both the complexes can be high spin.

(II)  Ni(II) complex can very rarely be low
spin.

(ITI) with strong field ligands, Mn(II)
complexes can be low spin.

(IV) aqueous solution of Mn(II) ions is

‘_s,re]]::rw in color.

The correct statements are :
(I), (I and (IV) only
(I), (IT) and (II) only
(II), (IIT) and (IV) only

(1) and (IT) only

www.FirstRanker.com
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TEFAHE HHS (1) 991 SqoRerHig (6a

(II) "gel & fog, 7= F99 w fT9r

Fifa :

() i Hepel 33 Woshv 9Tl & Wb ¢ |

(I) T4 (1) S5 aga 9 & 79 J=T0
12 T E |

() W= & ferre & wre Js (1), F=
WY1 1 2 Tl 2|

(IV) T (1) 1 el faeam die an =
ML

“@W%:

(1), (IIT) T (IV) 9=
(D), (IT) == (I11) ==
(1), (TI) =1 (IV) ==

(D) == (I1) \E
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Consider thata d° metal ion (M>*) forms a
complex with aqua ligands, and the spin
only magnetic moment of the complex is
4.90 BM. The geometry and the crystal field
stabilization energy of the complex is :

octahedral and —2.4A{]+2P
tetrahedral and —D.E’r.&t
octahedral and — 1.6 A{]

tetrahedral and — 1-’5":‘1 +1P

faar &3 & wa d° 91g s (M2 1) T
o= F WY UF Heped =11 € a9 HFe F

TR HTF I S0 4.90 BM €1 HEd
F1 wnfafa aun fFee 4 T w9 2

ATFASE G —24A,+ 2P

TURAHE T4 — 0.6,
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FHARE A4 —1.64,
40503638612.

TqURCTR T4 —1.6A,+ 1P

The statement that is not true about ozone

ig:

in the stratosphere, it forms a
protective shield against UV
radiation.

in the atmosphere, it is depleted by
CFCs.

it is a toxic gas and its reaction with
NO gives NDE-

in the stratosphere, CFCs release
chlorine free radicals (Cl) which

reacts with O, to give chlorine
dioxide radicals.

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

TEFFE T A F A T T, T

ZAfoER # 97 UV famm & faug
T TR Fad Il 2 |

qEIHed H, 98 CFCs & BRI & 2t
7

g U Wediell 79 & 941 98 NO & Ty
AT FF NO, Tl T

WIfERR H, CFCs FARA qad Joish
(C1) Teprerd & st O, & @y srfufwman
Fh FARA SEAFIES Jolh od ¢ |

The IUPAC name for the following

compound is:

CHO
T -

e " o " -
-
- "-\-,\_Hv-__.-" N

H;C
COOH
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2, 5-dimethyl-6-oxo0-hex-3-enoic
40503638618, acid

6-formyl-2-methyl-hex-3-enoic
acid

2, 5-dimethyl-5-carboxy-hex-3-

enal

2, 5-dimethyl-6-carboxy-hex-3-

enal
o1 AifiTes o feu IUPAC 9 210
CHO
..-""l"“ .-__:-'-_j-\.,\_\‘ .-'"'-' CH3
Jes e |
COOH

2, 5-EEHYT-6- AT EF9-3-FATF
e

6- BT Hel-2- el - g9 -3 518 Ufge

www.FirstRanker.com
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2, 5-2EHITA-5-FHTaTaR - FF-3-39

40503638620.

2, 5- Y- 6-FTaTFI-EFH-3-7a

In Carius method of estimation of halogen,
0.172 g of an organic compound showed
presence of 0.08 g of bromine. Which of
these is the correct structure of the

cc-mpr:-und ?

H,C - Br

www.FirstRanker.com
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H,C—-CH,—Br
40503638625. - =

AT & Ao % HLem fafg #,
FEfTH AMTH F 0.172 g, 0.08 g FHA =i
Iufeafa wefvia a1 = 9 & s =t 1@
HEET HIA B ?

H,C - Br

H,C—CH,—Br
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The major prnduct inthe £ Dllowf_ng reaction
is :
H-C CH=CH
3 e 7 2 . 3
CN o
' ' Heat

CHj,

¥

“ e,

H;C  CHs

T‘H
H~C
3 R

",

N, CHz
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Correct Marks : 4 Wrong Marks : 1

= sffF § A s B
HyC_  CH=CH, }
p e H,0
i / E—
E| __CHy
RCI 13
H;C  CH
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The increasing order of the following

compounds towards HCN addition is:

_ _CHO
e ~xo,
® (i)
- ON CHO
OCH, B ,,_,J«
(i1r) (iv)

(iii) < (iv) < (i1) < (i)

www.FirstRanker.com

www.FirstRanker.com



:l », FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

o= ARl =1 HON & Heherd 9fd =iear &9

%— ;
_CHO
H,CO f CHO (
f-**'““‘“x
(i1)
(iii) (iv)

(iii) < (iv) < (i) < (i)

(iii) < (i) < (iv) < (i)

(1) < (i) < (iv) < (i)

(i) < (iv) < (1) < (i)
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The major aromatic product C in the

following reaction sequence will be :

~ HbBr
E’“CR (excess), i (i) KOH (Alc.) 9
o A (ii) H*

O3
+

48
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T sl srm 4 g tiifes Sae

C &I :
el
gl 'r}"‘“avf"' HBr, x (1] KOH {HIC}
S a (if) H*
®)
3+ -
Zn/H;0
?‘““*"f Br
QO
CHO

. JOH
()
_OH
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Correct Marks : 4 Wrong Marks : 1

Which of the fcr]lowing compnunds will

show retention in configuration on

nucleophic substitution by OH ™~ ion ?

Cl 13 —CH—Br
|
CeHs

Br

|
CHa=C—H

I

C¢Hya

CHy —CH—CHabr
C,oH;

CH; —CH—Br
CH;

o1 4 w1 Fifies OH — g 19 Tigt
gfaeE W fa=ma | 9ro g2y Hem?

www.FirstRanker.com
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CH;— CH—Br
|
CeHs
40503638638.
Br
|
CH,-C—H

|
Cetly

CH;— IZ%H —CH,Br
C,H;

CH; —CH—Br
CH;
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Consider the fo ]l::-wing reactions

() Glucose+ROH _dryHA _ Acetal

x eq. of

(CH,C0)0 acetyl derivative

(i) Glucose
" Ni/H,

acet‘_vl

ri a."% r
(G1,00),0 ~ acetyl
derivative
(iif) Glucose (CHAC0),0
derivative

£ __F

respectively.

4, 5&5

4, 6&5

54&5

56&5

x’, ‘y" and ‘z" in these reactions are

www.FirstRanker.com
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= wAfufswed = fa=r Fifa .
() TEFE+ROH — P HC | iy

(CH,CO),0

Flreq  CHITEA TH

. <~ _ Ni/H, (CHACO)O0
(i) TeIHE > A =

THifed =g
~ (CHLCORO . -
(i) e — S 2 Wl e

T AAfafwarst § ‘v, 'y q91 ‘27 wE

g

4,5741 5

4,6 9915

547U 5

5,6 A5
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The internal energy change (in J) when
90 g of water undergoes complete

evapnratinn at 100°C is

(Given : ﬁHmP for water at 373 K=41k]J/
mol, R=8314 JK~T mol 1)

5t05.002

Question Number : 46 Question Id : 40503610601 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

4 90 g UM T 100°C T YUTET H i
2 W @ A e uftadq () H ) B0
(fegn ma1 € : 373 K W Ul & feu
AH,,,=41 kJ/mol TaT R=8.314 JK~!
mol 1)

5 to 5.002
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Correct Marks : 4 Wrong Marks : 0
The Gibbs energy change (in ]) for the given
reaction at [Cu”*]=[Sn"*]=1 M and 298
Kis:
Cu(5}+5n2+(aq_} — Cu2+(aq_}+5n(ﬁ};

(Eg 20,6n = 016V, E”C 241y 034V,
oh  |[oh u u

Take F=96500 C mol ~ 1)

5t05.002

Question Number : 47 Question Id : 40503610602 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

e T afvfEn F fag fes o= afiEdq
(JH ) [Cult]=[Sn2*]=1 M T°1298 K W

T

Cu(s)+5Sn 2+(aq_} —}Cu2+(aq_}+5n(5};

(B ,, =-016V,E® ., =034V
Sn-"|Sn Cu<"|Cu

a9l F=96500 C mol~1)
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Question Number : 48 Question Id : 40503610603 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The mass of gas adsorbed, x, per unit mass

of adsorbate, 11, was measured at various

pressures, p. A graph between lwgi and
1t

log p gives a straight line with slope equal

to 2 and the intercept equal to 0.4771. The

x
value of — ata pressureof 4 atmis: (Given
mn

log 3=0.4771)

5 to0 5.002

Question Number : 48 Question Id : 40503610603 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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HAfeIs, i % Wi 3T IHM W AT
149 % Zo9HH, 1 %1 fafy= gr&i p o | 1@ |

log— @M log p == =1 7% Tk HIeft T
'

T T99=1 219 2 F =R 991 349 0.4771

F T E 4 atm F T W i 1 M 2R

(log 3=0.4771)

5t05.002

Question Number : 49 Question Id : 40503610604 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
The oxidation states of iron atoms in

compounds (A), (B) and (C), respectively,
are x, y and z. The sum of x, y and z is

Na,[Fe(CN)5(NOS)]  Nay[FeO,] [Fey(CO))
(&) (B) ©
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Possible Answers :
5 to 5.002

Question Number : 49 Question Id : 40503610604 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
AT (A), (B) 91 (C) H A AT =i
TR W&W: x, iy 99l z %I X,y
qAT 2 1 AT 20T
Na,[Fe(CN);(NOS)]  Nay[FeO,]  [Fey(CO)q]
(A) (B) (©)

5 to0 5.002

Question Number : 50 Question Id : 40503610605 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The number of chiral carbons presentin the

molecule given below is
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Question Number : 50 Question Id : 40503610605 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

= fea T v § IufEed wise Frel 6l

deme |
-
-
H #D“*-\.\_,-'_‘_'; ot
5 Y
HyC 7 | 7 CHs
HO -\.\,N\_"'.-'.-"
5 to 5.002
Mathematics
Section Id : 405036384
Section Number : 3
Section type : Online
—Mandatery-erOptional: Mandatory

Number of Questions : 25
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Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036735
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 40503610606 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If R={(x, ¥) :x, ye Z, x2+ 3];1 = 8} is a
relation on the set of integers Z, then the
domain of R~ lis:

[-2,-1,0,1%

{i—2.-L 12
=101}
{0, 1}

afa R={(x, y): x, ye Z, x> +3y* < 8}, quiiehi

www.FirstRanker.com
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Options :

Jo9 i, 019
40503638651.

{-2,-1,12
{-1,0,1)
{0, 1)

Let a and B be the roots of the equation,
5x2+6x—2=0.IfS =a"+p",n=12,3,..,
then :

55, +65,=25,

65, +55 +25,=0
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HA o 91 B FHEH 522+ 6x —2=0 F JeA
g1 ARS, =a+p"n=1,2,3, .. 8 @ :

55, +65;=25,
55{-] +655 +2'.S_1={]

65, +55 +25,=0

1+ sin%” | ;'ccrs%” ?
The value of ig

14 sin%” :'c::-s%”
(V3 -i)
1 :
=0 if3)

1 1 ﬁ

E( (] ..]
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40503638662, 2
IlSiI‘lEg—'” ;ICDSEQ_TTEETHFI%:
Iisi_nzg—'” :'cc-sz?—"’j
(V3 -i)
» |
S(1-iV3)
(1-id5)
LN )
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Let A be a2 x 2real matrix with entries from
{0,1}and |A| # 0. Consider the following
two statements :

(P) If A #1,,then |A|= -1

(Q) If|A|=1, then tr(A)=2,

where [, denotes 2% 2 identity matrix and

tr(A) denotes the sum of the diagonal
entries of A. Then:

(P) is true and (Q) is false
(P) is false and (Q) is true
Both (P) and (Q) are false

Both (P) and (Q) are true
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TF A TF 2% 2 F1 arias N=ge ¢ g
s (0,1} HATam (Al =0 & F= S
FoAl T faEr it

(P) A AzL,,dW[A|=-1%

(Q) dfz|Al=1, & r(A)=27%,

W@l [, T 2x 2 & qoHa S8 (identity
matrix) I S9AT € 991 tr(A), 3=9E A &
ool & srergal % ArTEA w1 v 21 Al

(P) B9 & 941 (Q) & &1
(P) 3793 & @91 (Q) TF B
(P) @41 (Q) SFT STHA T |

(P) 71 (Q) =FI 9A |

Let S be the set of all A € R for which the

system of linear equatir:uru-:

x=yEds=1
x—2y+Az=—4
x+Ay+z=4

has no solution. Then the set S
www.FirstRanker.com
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Options :
40503638667, 2 EMPLY set

is a singleton.
contains exactly two elements.

contains more than two elements.

HMATS, UH G A e R F1 9g=A &, for forg
s T

x—y+2z=2

x—2yt+hz=—-4

x+Ay+z=4

1 FTE e Tel €, of 9= S

e T T
T Usel Saad = 99=d 2
T 7 <1 H99E F

¥ =1 9 i sEad B
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Question Number : 56 Question Id : 40503610611 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let a > 0, B > 0 be such that o +p2=4. If
the maximum wvalue of the term

independent of x in the binomial expansion

: 10
of (oy¥ 4 PBx ) is 10k, then k is equal

to :

176
336

352

TMa>0,>0THIFNE fF o+ B2=4 T
o % [ . T
?Tﬁf(ﬁx%i[sx ¢) FHRTRAxH

Eda I€ F STT9HaE 79 10 k €, °f k 1 5H

T
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40503638671, B34

176

336

352

The sum of the first three terms of a G.P. is

S and their pmduct is 27. Then all such
Sliein:

e Rt
(—e, =3l'v P »)
(==, =9%v B, =)

(—=,9
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e TR 421 % 99 i T8l T AMEA S
A UAFA 27 7, @ TH T S o frem €,
EFE?%:

[-3, =)

(==, =3]'U [9, »)

{0, =L 5 00)

(—=,9]

If x| <1,|y/ <1and x # ¥, then the sum to
infinity of the following series
@+ + 0y + 7+ (2 af )+
is:

(T+x)(1+y)
X+ y+ oy
(1-x)1-y)
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afg x| <1,y <1 9 x =y T, @ Fe=1 goit
(x+y)+ {_1'3 +xy+ JF} + (f‘ + _1'3]; + _1'];3 + ]f‘} + ...

& S T2l &l ANTEA 8 ¢

(1+x)(1+y)
Xty oy
(1-x)1-y)
x y _'l'y
(1-x)1-y)
X+ y _'l'y
(IT+x)(1 +vy)
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If a function f(x) defined by
i,Iae:‘ Fbe™, —1=x=1
f(x) = jex? S

Iaxz F2ox ,3<x =4

be continuous for some a, b, c € R and
(0)+['(2)=e, then the value of a is:

e
e? —3e + 13
e
e +3e + 13
e
e’ —3e —13
1
ez 3e + 13
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ae” +be ¥, -1=x<1
2

() = jcx s Ad=Sy=d

a;rz +2cx ,3<x=4

B GRHITT Fe f(x), 7FH a, b,ce R &
fAu Gaa a0 (0)+ /(2 =e &, Wa F A

e

e
et —3+13
e
et +3e +13
e
o TR
1
gt —% +13

If the tangent to the curve y=x +siny at a

point (a, b) is parallel to the line joining

3

|
(il L™}

s la
Foa= p LLEICTN &
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40503638687, 1P~ 2=1
b=a
la+b|=1
b= jud Fa

2

?Ti:c{_ﬂ!ﬁﬁ‘|;=_1'+sirq; %Fﬁﬁg(a,h}mﬁ
¢ oY Y, g (n, ;} Ao [% 2|7

/
e aeft T F T T,
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Question Number : 61 Question Id : 40503610616 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If p(x) be a polynomial of degree three that
has a local maximum value 8 at x=1 and

a local minimum value 4 at x =2; then p(0)
is equal to:

-12

—-24

12

AT p(x) o T F1 TF TH 5g9< &, 95+
THE AfHad 9 8, x=1 T & a9 THA
ZJAqH HM 4, x=2 W g; d p(0) TR & :

—-12

— L%
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40503638693, ©

12

Area (in sq. units) of the region outside

i | y =1 and inside the ellipse

e

LS SO
19
3(4—)
6(4—)
6(m —2)
3(w—2)
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%}%=1ﬁ5 E1o S I e o
1'2 2 = =~ -
LTREY %=1 ¥F o U F 9F F aTEA
(a7 sp1gi H) T

3(4—1r)

6(4—)

6(—2)

3(r—2)

Let y=y(x) be the solution of the
differential equation,

ﬂ- dy __CDSI,H }U,]f{ﬂ:l=] [f

y+1 dx
'd_y |
y(wm)=a and —— at x=m is b, then the

ordered pair (a, b) is equal to :
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=

(L1)

40503638699.

(L -1)

(21)

HEAT  y=y(x), HAIFA GHIHIU

m . _y — Cosx, i }{],1;({]}=1,?ﬁl
y+1 dx

Al A y(m)=a T AT x =7 W gx—y =b%

1 fEd 99 (a, b) TR T
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40503638702. (Z1)

Let P(h, k) be a point on the curve
];=.1'3 +7x +2, nearest to the line, y=3x —3.
Then the equation of the normal to the
curve at Pis:

x—3y+22=0
x+3y—62=0
x+3y+26=0

x—=3y—11=0

A P(h, k) 3% y=x2+7x+2 T @ 1=
ﬁg%,ﬁﬁ%@;,;:&x—ﬂ.%ﬁa?am%l 0l
fig P W =% ¥ sy =1 T €

x—3y+22=0
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x+3y—62=0
40503638704. y

x+3y+26=0

x—3y—11=0

A line parallel to the straight line 2y —y =0

2 2

is tangent to the hyperbola % ¥

2
at the point (x,, 1,). Then xlz t 55(12 is equal

to :

10
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T W@l 2 —y =0 % FHAAITR it T U

e s - L 65 1)
me%.m.xf }55;;" FHA @

10

8

6

5

The plane passing through the points
(1,2, 1), (2, 1, 2) and parallel to the line,
2x=3y, z=1 also passes through the

point :

(2.0, -1}
(—2,0,1)
(0.6, —2)
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40503638714, 0, —6,2)

fagadi (1,2, 1) 71 (2,1, 2) | EF M A
a1 @ 2 =3y, z=1 % AR GHad, 7 H
Afmaafag g fidam o e, = 2 :
(2,0, -1)
(—2,0,1)

(0,6, —2)

(3, —85, 2)

Let X={x e N :1 = x = 17} and
Y={ax+b:xeXanda be R, a>0}. If
mean and variance of elements of ¥ are 17

and 216 respectively thena +b is equal to:
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40503638715, 27

A X={x e N:1 = x = 17} 9
Y={ﬂ.1"‘|"h:.1'E}{Hmﬂ,hER,ﬂ}ﬂ}%l P
Y % STag4i & "I a9 T E9: 17 990
216 % Wa+b ARE :

=2y
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Box I contains 30 cards numbered 1 to 30
and Box II contains 20 cards numbered
31 to50. A boxisselected at randomand a
card is drawn from it. The number on the
card is found to be a non-prime number.
The probability that the card was drawn

from Box1is :

w| N

WrN
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THIHN FEETA WL H30 9F F
HEATU 3 & St =@ 11 | 20 #1 € fom
W31 | 50 7 F1 HEA HAfHd &1 A=
U S A W §, a1 SHE ° UH HE
frrerTen ST 21 9w = § T S Wi
Fifehd T S9Y=g T Rl €1 TH FE &
T [ § el 91 =1 Wi 2

w|N

WM

The domain of the function

f{x}l=sin_1[1;+5JLq

x=+1

_{_:L’_g}bl_[.a— = oo ) hen a4 g,;]:"al fo -
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Options :
V17
40503638723, 2
14 A7
2
W7 -1
2
V17
M i
2
- Xl +5 .
F@T f(x) =sin ][ - ) H1 T4
-.JL’ ‘i 1J

(—®, —a]ula, ©) ¥l Wa MAAE :
iz
2

R v
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V17 -1
40503638725. 2
V17
bl
2

The contrapositive of the statement “If I
reach the station in ime, then I will catch

the train” is :

If I do not reach the station in time,
then I will catch the train.

If T do not reach the station in time,
then [ will not catch the train.

If T will catch the train, then I reach
the station in ime.

If I will not catch the train, then I do

not reach the station in time.
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Fyq ‘'afs § 999 W 2IH T §, o1 §
TS UshE S o Ui E Y

“gfg § =em wRE W e ugE, 91 |
et ywe am’ |

“gfg § =em wRE W e ugE, 91 |
TEE TR 9 S

" gfg H§ el yehe o, O § 9 W
YA TgEm gl

“ofe H TermEr wE wwem, o § wwa
W E2YE e dgam gl

If the letters of the word "MOTHER' be
permuted and all the words so formed
(with or without meaning) be listed as in
a dictionary, then the position of the word
‘MOTHER’ is
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Answers Type : Range
Text Areas : PlainText
Possible Answers :
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Question Number : 71 Question Id : 40503610626 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ifg w158 ‘MOTHER’ & 21&W 1 % iad

fFe S 991 3@ YER 99 94t =l (g

qfed AAya1 Adfagq) 1 TEFW F IqER

g 31 5, &1 9= ‘MOTHER' &1 fafa

g |

5t05.002

Question Number : 72 Question Id : 40503610627 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If

x4 x2 Fo.o+x™ =1

1
lim =820, (neN)
r—1 X 1 '

then the value of n is equal to
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5 to0 5.002

Question Number : 72 Question Id : 40503610627 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

E I
g . 3 n
| | ...
lim 2% 1 T 180, neN)
r—1 X 1 '
T A nFHAER |
5to 5.002

Question Number : 73 Question Id : 40503610628 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
2

The integral JHl 1| 3’-’|d-’: is equal to
0
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Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 73 Question Id : 40503610628 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

2
WJHA’ 1| x|dx ERE
0

5t05.002

Question Number : 74 Question Id : 40503610629 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The number of integral values of k for
which the line, 3x +4y =Kk intersects the
circle, x2 + 1 2 —2x— 4y +4=0at two distinct

points is

5t05.002
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Question Number : 74 Question Id : 40503610629 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

W™ 3x+4y=k Ia 22+ 17— 2x— 4y +4=0

1 31 f9= foigell WPl g, 8 |

5 to0 5.002

Question Number : 75 Question Id : 40503610630 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

— = -

Let a, b and ¢ be three unit vectors such

2 2
that ‘; E‘ |‘: E}‘ —8. Then
RO S B,
510 5.002

estion Number : 75 estion Id : 40503610630 estion Type : SA Displa estion Number : Yes
Questi " Questi www.FllrstRa(r%l?er.cl:om P isplay Questi "



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Correct Marks : 4 Wrong Marks : 0

A a2, b A ¢ 9 U A afew
2
el P =l PO
2 2
P
|
5t0 5.002
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